ORDA

7 IR | )

when an evolution becomes a revolution






Object

ATITU



ATI1I U

U



ATITU

"employees”: [

{

"tirstname": "John",
"lastname": "Smith"

3
{
"firstname": "John",
"lastname": "Carter"
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"employees”: [
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"lastname": "Smith"
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$object.employees
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{
"employees”: [
{
"firstname": "John",
"lastname": "Smith"
}’ —
{ —
"firstname": "John",
"lastname": "Carter"
J
]
J

$object.employees[1].lastname
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Employee

ID
salary 0.5
firstname

$name:=ds.Employee.all()[0].firstname

T—IKR—R T=)N S 14—V

ATIIOKET-HIR-2R



Employee

m 232

salary 0.5
firstname

$name:=ds.Employee.query("salary>10000")[0].firstname
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Invoices

ID 932
Shipping 232
Invoicing 932

shippingTo

invoiceTo

$ship:=ds.Invoices.query(“shippingTo.City=:1";"Paris")
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People

ID
firstname
Dad

Mom

$p:=ds.People.query("mother.father.firstname=:1";"John")
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Contacts

bship:=ds.Invoices.query("shippingTo.City=:1";"Paris")
Siiothez:s= SsHip(tjriuoifSToitgah.City=:1";"Lyon")
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People

ID
firstname
Dad

Mom

JARKRY I RX

Headerl Header2 Header3
this.firstname this.mother.firstname this.mother.father.firstname




Invoices

ID
title

created
modified
description

Inventory

ID
title

created
modified
description
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Header3
this.description

Headerl
this.created

Header2
this.title

aLovay ()

[
{“created”:”2018-10-22T09:00:00.000Z",
“title” :””,

9 999

“description”:
b
{"created”:"2018-10-23T09:00:00.000Z",
“title” :””,

9,99

“description”:

b
{‘created”:"2018-10-24T09:00:00.000Z’,

“titlE” :m’,
“description”:””

}
]
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